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Worksheet 2025-26 

CLASS: X 
SUBJECT: MATH EMATICS 

Chapter No:8 – Introduction to Trigonometry 
MCQ: 

1-
𝑺𝒆𝒄 𝟑𝟎𝟎

𝑪𝒐𝒔𝒆𝒄 𝟔𝟎𝟎  = 

(a) 
𝟐

√𝟑
                                (b) 

√𝟑

𝟐
                                    (c)  √𝟑                                      (d)    1 

2- Given that sin 𝜃 =  
𝑎

𝑏
  ,find cos 𝜃 

      (a)
𝑏

√𝑏2−𝑎2
                          (b) 

𝑏

𝑎
                                              (c) 

√𝑏2−𝑎2

𝑏
                                 (d)    

𝑎

√𝑏2−𝑎2
 

 
3-  (sec 𝐴 +tan 𝐴 )(1− sin 𝐴) = 
       (a)sec 𝐴                         (b) sin 𝐴                                         (c) cosec 𝐴                                (d) cos 𝐴 

4- If  tan 𝜃 =  
𝟏

√𝟑
  , the value of 𝐬𝐢𝐧(𝟗𝟎𝟎 − 𝜽) is  

(a) 0                                (b) 1                                       (c)    √𝟑                                      (d) 
√𝟑

𝟐
 

5-If 𝐭𝐚𝐧 𝜽 +  
𝟏

𝐭𝐚𝐧 𝜽
 =2  ,then the value of 𝒕𝒂𝒏𝟐𝜽  +  

𝟏

𝒕𝒂𝒏𝟐𝜽
  is  

(a) 3                               (b)      4                                    (c)     2                                        (d) -4 

6- If 2𝐭𝐚𝐧 𝑨 = 3 , then the value of 
𝟒 𝐬𝐢𝐧 𝑨+𝟑 𝐜𝐨𝐬 𝑨

𝟒 𝐬𝐢𝐧 𝑨−𝟑 𝐜𝐨𝐬 𝑨
 is  

(a) 
𝟕

√𝟏𝟑
                             (b) 

𝟏

√𝟏𝟑
                                            (c) 3                             (d) does not exist 

7- [
𝟑

𝟒
𝒕𝒂𝒏𝟐𝟑𝟎𝟎 − 𝑺𝒆𝒄𝟐𝟒𝟓𝟎 +  𝑺𝒊𝒏𝟐𝟔𝟎𝟎] is equal to 

(a)  -1          (b)  
𝟓

𝟔
                                                                     (c) 

−𝟑

𝟐
                            (d)      

𝟏

𝟔
 

8- If 𝒙 = 𝒂 𝐬𝐞𝐜 𝜽  ,  𝒚 = 𝒃 𝐭𝐚𝐧 𝜽  then 
𝒙𝟐

𝒂𝟐 -  
𝒚𝟐

𝒃𝟐    is equal to  

(a) 𝒂𝟐                       (b)     𝒃𝟐                                        (c)   -1                                       (d)    1 

9- If 𝐜𝐨𝐭 𝜷 =  
𝟕

𝟖
  , then 

(𝟏+𝐬𝐢𝐧 𝜷)(𝟏−𝐬𝐢𝐧 𝜷)

(𝟏+𝐜𝐨𝐬 𝜷)(𝟏−𝐜𝐨𝐬 𝜷)
 = 

(a) 
𝟒𝟗

𝟔𝟒
                               (b)   

𝟔𝟒

𝟒𝟗
                           (c) 

𝟕

𝟖
                                                  (d)  

𝟕

𝟓
 

10- If 𝐜𝐨𝐬 𝜽 + 𝐬𝐢𝐧 𝜽 = √𝟐 𝐜𝐨𝐬 𝜽 then 𝐜𝐨𝐬 𝜽 − 𝐬𝐢𝐧 𝜽   𝒊𝒔  

(a) -√𝟐 𝐜𝐨𝐬 𝜽                             (b) √𝟐 𝐬𝐢𝐧 𝜽                           (c) 2𝐬𝐢𝐧 𝜽                   (d) √𝟐𝒕𝒂𝒏𝜽 
Assertion and Reasoning Based Questions: 
The following questions consist of two statements -Assertion (A) and Reason(R) .Answer these questions 
selecting the appropriate option given below : 

(a) Both A and R true and R is the correct explanation for A. 
(b) Both A and R are true but R is not the correct explanation for A 
(c) A is true but R is false. 
(d) A is false but R is true . 

 

1-Assertion: In a right angled triangle ,if 𝐜𝐨𝐬 𝜽 =
𝟏

𝟐
 and 𝐬𝐢𝐧 𝜽 =

√𝟑

𝟐
 then 𝐭𝐚𝐧 𝜽 = √𝟑. 

Reason:    𝐭𝐚𝐧 𝜽 =  
𝐬𝐢𝐧 𝜽

𝐜𝐨𝐬 𝜽
 

2-Assertion: 𝐬𝐢𝐧 𝑨 is the product of Sin  and A 
Reason:  The value of 𝐬𝐢𝐧 𝜽 increases as 𝜽 increases. 
 



Subjective Questions: 
 

1-Find the value of 
2 tan 300

1+𝑡𝑎𝑛2300 

2-If cot 𝜃 =
15

8
 then evaluate 

(2+sin 𝜃)(1−sin 𝜃)

(1+cos 𝜃)(2−2cos 𝜃)
 

3- If sin 𝐴 =
3

4
  calculate sec 𝐴 

 
4-Evaluate: 𝑠𝑖𝑛2600  + 2tan 450 - 𝑐𝑜𝑠2300 
 
5-Prove that : 2𝑐𝑜𝑠2𝜃 + 

2

1+𝑐𝑜𝑡2𝜃
 = 2 

 

6-Prove that :
𝑆𝑖𝑛3𝜃+𝐶𝑜𝑠3𝜃

𝑆𝑖𝑛𝜃+𝐶𝑜𝑠𝜃
 + sin 𝜃 cos 𝜃 = 1 

 

7-Prove that : 
𝑠𝑖𝑛𝜃+𝑐𝑜𝑠𝜃

𝑠𝑖𝑛𝜃−𝑐𝑜𝑠𝜃
  +  

𝑠𝑖𝑛𝜃−𝑐𝑜𝑠𝜃

𝑠𝑖𝑛𝜃+𝑐𝑜𝑠𝜃
=

2𝑠𝑒𝑐2𝜃

𝑡𝑎𝑛2𝜃−1
 

 

8-Prove that : 
𝑐𝑜𝑠𝜃

1−𝑡𝑎𝑛𝜃
 + 

𝑠𝑖𝑛𝜃

1−𝑐𝑜𝑡𝜃
  =  𝑐𝑜𝑠𝜃 + 𝑠𝑖𝑛𝜃 

 

9-Prove that: √
1+𝑠𝑖𝑛𝜃

1−𝑠𝑖𝑛𝜃
  +  √

1−𝑠𝑖𝑛𝜃

1+𝑠𝑖𝑛𝜃
   = 2sec 𝜃 

10- If  A and B are acute angles such that  sin( 𝐴 − 𝐵) = 0 and 2cos(𝐴 + 𝐵) − 1 =
0 , 𝑡ℎ𝑒𝑛 𝑓𝑖𝑛𝑑 𝑎𝑛𝑔𝑙𝑒𝑠 𝐴 𝑎𝑛𝑑 𝐵 . 
 

11-Evaluate: 
𝟓𝑪𝒐𝒔𝟐𝟔𝟎𝟎+𝟒𝑺𝒆𝒄𝟐𝟑𝟎𝟎−𝒕𝒂𝒏𝟐 𝟒𝟓𝟎

𝑺𝒊𝒏𝟐𝟑𝟎𝟎+𝑪𝒐𝒔𝟐𝟑𝟎𝟎  

 
12-Find the value of x : 

     2𝐶𝑜𝑠𝑒𝑐2300 + 𝑆𝑖𝑛2600 −
3

4
𝑡𝑎𝑛2300 = 10 

 

13- If  7𝑆𝑖𝑛2𝜃 + 3𝐶𝑜𝑠2𝜃 = 4 , 𝑆ℎ𝑜𝑤 𝑡ℎ𝑎𝑡 tan 𝜃 =
1

√3
 

 

14- If Sin 𝜃 =
12

13
 , 00 < 𝜃 < 900 then find the value of  

𝑆𝑖𝑛2𝜃−𝐶𝑜𝑠2𝜃

2𝑆𝑖𝑛𝜃𝐶𝑜𝑠𝜃
 x  

1

𝑡𝑎𝑛2𝜃
 

 
15-Prove that  (1 + cot 𝜃 − Cosec 𝜃)( 1 + tan 𝜃 + Sec 𝜃) =2  
  

16- If sec 𝜃 + tan 𝜃 = 𝑝 , 𝑝𝑟𝑜𝑣𝑒 𝑡ℎ𝑎𝑡 sin 𝜃 =
𝑝2−1

𝑝2+1
  

17- If 𝑥 = 𝑎 sec 𝜃 + 𝑏 tan 𝜃  𝑎𝑛𝑑 𝑦 = 𝑎 tan 𝜃+ bsec 𝜃then prove that  𝑥2 − 𝑦2 = 𝑎2 − 𝑏2 

18- Prove that : 
𝑡𝑎𝑛2𝐴

𝑡𝑎𝑛2𝐴−1
 + 

𝐶𝑜𝑠𝑒𝑐2𝐴

𝑆𝑒𝑐2𝐴−𝐶𝑜𝑠𝑒𝑐2𝐴
= 

1

1−2𝐶𝑜𝑠2𝐴
 

19-In the ∆ 𝐴𝐵𝐶, ∠𝐴 = 𝑅𝑖𝑔ℎ𝑡 𝑎𝑛𝑔𝑙𝑒 , 𝐴𝐵 = √𝑥  and BC = √𝑥 + 5 Evaluate 
sin 𝐶. Cos 𝐶. tan 𝐶 + 𝐶𝑜𝑠2 𝐶. sin 𝐴 

20-Prove that : 
𝑡𝑎𝑛𝜃

1−𝐶𝑜𝑡𝜃
 + 

𝐶𝑜𝑡𝜃

1−𝑡𝑎𝑛𝜃
  =  1 + sec 𝜃 cos 𝜃 

                                                 xxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxxx 



 
 
 
 


